1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

7000 GeV pp Z+Jet
L L L L L L e B
10° = . =5
= Jet mass (anti-k_(0.7), 220<p_<300, |y|<2.5) 33
- T T 2
10? & =5
= SN
— - 3’
B ks
10 = —
— 040
— .=
L [
B =)
107 = =2
— m
— - 8’
- N ™M
107 & R
- m CMS o %
—  --8-- Herwig 7.2.1 default R
103 == —&— Pythia 8.212 default e 3 =
= ¢ Sherpa 2.2.9 default 39
L dwn
107 EE
| e | | | | | | | | | | | [ -
:l Ll\_l\ T 1 T T | T T T T | T T T : |:
2 o 12
- . =
1 F——— o
- ’ /,/ ]
0.5 — _
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | “" 1 " 1 " 1
0 50 100

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


